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I Continuation of discussion exploring impact of nam
a  N™:if the nam is deficient, mnn may not be eaten
i Source:v.1 - ties nmin n%ar with existence of (proper) nam
ii  Extension: to mwTp *wTp (may not be eaten in absence of proper narmn)
1 Source: end of v. 1 (nmmn called "0>w1p ©T1p”)
iii  Extension: to 0'%p Dw1p
1 Source (71N): per report of *01 '3, among 3 things he learned from elders, teaching of YxRynw ":
(a) We might have thought: that in absence of wTpn, a person may bring v"yn and eat it in w51
(b) However: verse not needed to negate, as it stands to reason (ar 1a):
(i) 7292 requires mpn nNX1n, as does VYN
(if) Just as: 71992 may not be brought ntn 013, so too with w”yn
1. Block: 1132 requires o>nT jnn and 1R on nam (untrue about v"yn)
2. Save: w222 disprove that causal connection — they require no on7 jnn etc. — yet aren’t brought
a.  Block: > require “placement” (7n1n) in front of nam
(c) Therefore: v. 2, which compares 7wyn to 7133, negates possibility of bringing v”yn in absence of vTpn
(i) Question: why didn’t he use a »xn nn (combination aR 1’31) of 71132 and w1272
1. Answer: could be challenged — both 1152 and 01272 have nam 7%, unlike v”yn
(d) Question: what does Yrynw> "1 hold in re: nnwWRY NWVITP?
(i) If: he holds that it was eternal (X25 TnyY nwTPY NNYYY NVTP),
1. Then: 121 should be brought in our day as well
(if) And if: he holds that it was temporary (825 TnyY nw1p RY)
1. Then: ask about the m131 as well (don’t assume it can’t be brought) — same question as v"yn
(iii) Answer (81227): he holds nwTp RY, case is M2 that was slaughtered and had its blood pn
1. But: n"n"a was destroyed before w1 n%x
a. (= »arlearned from here that o’9p DwTp may not be eaten in absence of proper nam)
2. Since: M1 07 is compared to 731 w1 (vv. 3-4) and 7131 71 compared to v"Yn (v. 2) — NOR
a.  Challenge: we do not “daisy-chain” a wpn (Wpna oM NN WK WpPna AN 717)
b. Answer: v"yn (the %) is PoIn
i.  Challenge: according to approach that we focus on Tnyn (which is 7121 — DW1p)
ii. Answer: 7w 07 is one thing (not a double-wpn)
2 Reaction in »& (i7p7 77): dismissive of »ar’s proof
(a) 7857792 when 19wn was “down” (during travels) n'wTp are invalidated; yet mRnv are exiled
(b) 2xs792 in 2 places (in proper place when 12vn is set up; anywhere on travels when not) n'v7p are eaten
(i) Resolution: 1st RmPM1 is re: DWTP *WTP; 274 is re: Y WP (i.e. may be eaten without narn)
(if) Rejection (82237): both are op WTP; 1t RN12 is HRYNY? 7 (above re: WY MN1); 24 is 1327 (dissent)
1. Or: both are Dw1p »O1p
a. Istis before oMY set up oyop (but nam is up)
b. 2ndis after they have taken y%p down (narm still up)
i.  Needed: as we might have thought that the j29p is invalidated as 8xv - 5"np
ii.  Question: why isn’t it R¥ 5108?
iii. Answer: v. 5 — wherever it is, it is called Ty Snr
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